@ A uniform linear charge density of 4.0 nC/m is distributed along the entire x-axis. Consider a spherical
(radius = 5.0 em ) surface centered on the origin. Determine the electric flux in Nm?/C for this surface.

(&, =885x107* C*/Nm*)
L1 6F &L 41 3=

N

0 Each of two small spheres is charged positively, the combined charge being 40 #C . Each sphere is repelled
from the other by a force of magnitude 2.0 N when the two spheres are 50 cm apart. Determine the charge in
¢C on the sphere having the smaller charge. (k, =8.99x 10° Nm?/C?)
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@ The electric flux through the sides of a cube is zero. The flux through the top is +20 N/C, while the flux
through the bottom is zero. Each plane of charge shown has 0=17.7x10""" C/m”. Which diagram shows the
planes of charge which give rise to the flux in this situation?
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a Determine the equivalent capaditance in pF for the network shown when C =12 pF. ‘e J-
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The potential difference across a 3 uF capacitoris 12 V. Its

‘acharged 6 4F capacitor. When ilibrium i
. equilibrium is reach ial d:
o oo & ed, the potential difference between the plates of the 3 uF
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' Two long parallel wires carry unequal currents in the same direction. The ratio of the currents 153t01. The
magnitude of the magnetic field at a point in the plane of the wires and 10 cm from each wire is 4.0 4T H.'Fl-.a*
is the larger of the two currents in A? B.% 25 %o €4 &y '
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A Jong straight cylindrical wire of 0.50 cm radius carrying a 2.0 A current is surrounded by a concentric
cylindrical shell of 0.50-cm thickness and inner radius 1.00 am carrying a 4.0 A current in the opposite
direction. The magnitude of the magnetic field, in 4T, 0.40 m from the center of the cylindrical wire is
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Aceanding i:D_B:Ac » where A =50 mT and t is measured in seconds. What is the magnitude in V e
induced emf in the coil at ¢ =0? _ gnitude in V of the
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plates are then connected to those of an | - I
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